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Task 1. For questions 1-15, read the text below and decide which answer A, B, C or D best fits each space. There is an example at the beginning (0).
0 A announced
B declared
C informed
D claimed

THE INTERNET HOUSE

A leading British building and design company has just (0) A their plans for the home of the future. The new design, (1) _________ as the ‘Internet House’, has five bedrooms, plenty of bathrooms and a double garage. But these are not the main selling (2) _______ , for it is the £25,000 (3) ________ of automation that makes this house really different.

It will be (4) ______ for people who have plenty of money, but not a great (5) _______ of time; young professionals in other words. They are likely to be (6) ________ to the idea of a microwave that provides easy-to-cook (7) _______ via the Internet and a cooker that switches itself on or off at a command received via e-mail.

All the electrical appliances in the house, (8) ________ the heating and lighting controls, are linked together by (9) ________ of a gadget called a ‘router’. Using what’s called a ‘Webpad’, a kind  of portable lap-top computer, the owners of the house tap in commands from (10) _______ they may be. The Webpad (11) _______ a signal to the router, which (12) _________ the message and then activates the necessary controls. On the way home at night, for example, the owners can switch on the lights or (13) ________ the central heating working, and so (14) ________ sure that they have a nice warm welcome when they (15) ________ into their home.
1
A entitled

B known

C called

D named

2
A points

B plots


C plans

D paths

3
A value

B price


C cost


D worth

4
A accurate

B model

C precise

D ideal
5
A length

B lot


C deal


D extent

6
A excited

B attracted

C appealed

D interested

7
A recipes

B receipts

C prescriptions
D instructions

8
A as long as

B as well as

C as soon as

D as far as

9
A account

B regards

C order

D means

10
A whatever

B however

C wherever

D whichever
11
A draws

B speaks

C sends

D hears

12
A decodes

B discounts

C decides

D dissolves

13
A lead


B get


C have


D put

14
A come

B make

C keep


D hold

15
A step


B stay


C enter


D stand

Task 2. For questions 16–25 read the text and solve the puzzle by putting the missing words into the crossword below. (0)  has been done as an example to help you.
Gases like (0) down (16) across are important for the Earth’s (17) down. They let heat from the Sun reach the (18) across, and keep it there. In this way, they help to keep the Earth’s temperature at the ideal (19) down. However, human activities are destroying the natural (20) across of these gases. When we burn fossil fuels like (21) down, oil and gas, we produce too much CO2. This CO2 collects in the (22) across and traps too much heat. We make the (23) across worse when we cut down (24) down. Living trees absorb CO2 and give off (25) down, but when we cut trees down we release lots of CO2 that causes the greenhouse effect.
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Task 3. For questions 26 – 30 put the abbreviations from the box in the appropriate context and write down the full form of the abbreviation. One abbreviation is not used. 

Note! In your answer sheet write only the full form.

	GP             BT Customer Services                NHS             

AandE            MA             HM Revenue and Customs      


26 The _____ set up in 1948, is a system that provides free medical care and is paid for through taxes. 

Full form: ___________________________________________

27 Mr. Watkins is self-employed and has some questions about paying tax. He calls __________________ at the end of each year. 

Full form: ___________________________________________

28 In an emergency (for example, an injury), you should go __________ department in the nearest hospital.

Full form: ___________________________________________

29 Mrs. Taylor wants to have a telephone line installed in her house. She calls ___________________ , and the operator puts her through to the correct department.

Full form: __________________________________________

30 A family doctor is also known as a  __________ .

Full form: __________________________________________
Task 4. Read through the signs 31-35 and decide what places A-I they could be seen at. Match the signs and the places. Be careful, some places are not suitable at all! 
	31 BASKETS ONLY
	
	32 TO LET
	
	33 DO NOT EXCEED THE STATED DOSAGE


	34 B& B
	
	35 KILL YOUR SPEED


A
In a bank

B
By the side of the road

C
In a supermarket

D
On an envelope or a parcel

E
On or outside  a commercial or residential building

F
On a shop window

G
Outside a hotel or guest house

H
On the packet or bottle of a pharmaceutical product

I
Outside a piece of private land
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